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Tekst 4 
 

1p 5 Why was Kade’s mother crying? (paragraph 1)  
A She could not find her son at the finish line. 
B She felt disappointed that she was not being listened to. 
C She found out her son might be injured. 
D She was desperate because her son had run away.  
 

1p 6 Why did Kade ultimately run the 10km run instead of the 5km run 
according to paragraph 2? 
A He decided to follow a family member.  
B He thought he had a chance to win the longer race. 
C He was pointed in the direction of the longer race. 
D He was sent the wrong way by a family member. 
 

1p 7 What is said in paragraph 3? 
A Heather Lovell still doesn’t believe that Kade won the race. 
B Kade probably performed better because he was driven by anxiety. 
C Kade was disqualified for not being officially registered in the race. 
D The runner-up was disappointed that he lost the race. 
 
 

Tekst 5 
 

2p 8 Welke twee maatregelen neemt McDonald’s in Japan om het tekort aan 
friet op te lossen? 
Geef antwoord in het Nederlands. 
 
 

Tekst 6 
 

1p 9 What becomes clear about a postman in paragraph 1? 
A Usually he does his work more quickly. 
B Usually he has more letters to deliver. 
C Usually he has to visit more locations.  
D Usually he is joined by more colleagues. 
 

1p 10 Why do people like Denies send letters to a tree according to 
paragraphs 2 and 3? 
because they believe it will 
A bring them good luck for the rest of their lives 
B help them to find the perfect match 
C inspire their partners to marry them 
D solve relationship problems 
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1p 11 Which statement about the tree is true according to paragraph 3? 
A It became known through a love story. 
B It has been an inspiration for dating apps. 
C It is a popular wedding location. 
D It is also known to people abroad. 
 

2p 12 Geef van elke bewering aan of die juist of onjuist is volgens alinea 4. 
Omcirkel achter elk nummer ‘juist’ of ‘onjuist’ in de uitwerkbijlage. 
1 Karl-Heinz Martens heeft een plakboek vol met herinneringen aan de 

boom. 
2 Karl-Heinz Martens brengt na zijn pensioen nog steeds brieven naar 

de boom. 
3 Karl-Heinz Martens spreekt door zijn werk meerdere vreemde talen. 
4 Als je geen interesse hebt in de schrijver van de brief, moet je de brief 

terugleggen. 
 

1p 13 What becomes clear from paragraph 5? 
A ‘Deutsche Post’ started the myth about the tree. 
B Mainly women send love letters addressed to the tree.  
C Some people seem to think the tree has special powers. 
D The tree attracts many visitors all year round. 
 

1p 14 What becomes clear from paragraph 6? 
A The letters are delivered by specially selected postmen. 
B The letters are delivered only once a week. 
C The tree has its own unique postal address. 
D The tree is quite difficult to find. 
 
 

Tekst 7 
 

1p 15 What is the writer’s main purpose in paragraph 1? 
A to explain why a man wanted to advertise online 
B to illustrate how much a girl hates dogs 
C to introduce an ad he has read 
D to show that he really likes pets  
 

1p 16 Wat is de toon van de advertentie (alinea 2)? 
A boos 
B grappig 
C onverschillig 
D teleurgesteld  
 
 
 


